ETE T
& 2[mEJava; .ri

24
S X 1BYIEL

EE

=== B



LI

DLW ENBO-HZE(E

NEREFEIEFZEL TS !




DEFE|Z

HIEIERBRDFIET

INVT— 4 lesson02
Z1{ER L TH VTS



12 & FlrE o

"BAEANL. TDIEZEIELT=HE

BARRSEDRTATSLEZERL
TLI=&y

)5 X4 :Re0l



AHOHNZE =

=Zx #(doubleZ)
"5 o3l (ifXX)

=)L—7 (for3X)



RIEIDEHDES

HIBMOPDFEZSHEL TLf=&0y

(=)




Double®!

INABHERIT DITHLT,

Doubleld, RHEZEXRT LD TY



i

void star
int numberA = 10;
int numberB = 4;
double numberC = 10.0;
double numberD = 4.0;
int intTotal = numberA / numberB;
double doubleTotal = numberC / numberD;
JOptionPane.showMessageDialog
(null, "int(d:"+ intTotal + "\n double@hr+doubleTota1);
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inld. = 2
doubleld:2.5
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String input =
JOptionPane.showlnputDialog(“x® #=F");

iINt Num = Integer.parselnt(input);
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double Num = Double.parseDouble(input);
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JOptionPane.showtessageDialog(null, "[ElTE");
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vol4a stTar

int a = 3;
int b = 3;
int ¢ = 3;

if(a == b && b == ¢){
boptionPane. showtessageDialog(null, "BlLTE");
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String Input =

JOptionPane.showlnputDialog(“3X=FE A 137);

If(input == “Hello™){
JOptionPane.showMessageDialog(“[& L");
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TRESTEDL |\

if(input.equals(“Hello™)){
JOptionPane.showMessageDialog(“[E]L”);

}
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Int total = O:
for(int 1=0;i<10;1++){
total = total + 1

}

HARDER | Z1ERL. | DOMBIRES,
[.JADGENEHLE, |L+1’d”ﬂ]ﬂﬁ‘c‘<h
.. JADGmENEYIRSNS,

ZDforxXlE. inN0~9DLEZED
ET10[El#¢Y BRI aiH




[HRYR I BN OMLLENESE(E

—{K, AEFEZIEOOAREGD))))

FABEADT=HIZwhileXEZ5E D1 HYET,

B A,

/1

TIHMNEELZDOTSEILOY



mleE01 i

2DDBYEANLI=hE EAGETEZSEHDH

B GBI EAETHELEBREZRT
FAEHETOHISLEZTLESIY,

B EENDANNS-ZEIE, FA47OY T
[? SN DANTT IERTENDESZL TS

5 A4 :Question01
EITHRRIEIROR—IA



8,2% AL |
AVHEEETLI-EE

@ EABHEELETM I BFEAD
(1ELE
(23512 H
(34T g
(42| E



[t e202

|
BHEAAL, EOEEIRLIFERERTS
#5705 L% fERLL T

)

=75 X4 :Question02



S HIFIZCTEDLYTY
|

R

A

H%Z
L&DN(-V =)/

‘ z- .l.ﬂs —=E(O,I7‘C)

$.EE LvoidE A YR T,

X.4/29B(A)TY . mNZELEDITL3Z

BOMNEETLI | (0N

I|I



